B. J. Barber #13
P&A'd

|<4— Ssurface plug 10 sks (+/- 60’)

: NOTE: If unable to circ cememt
| «<@——— from 1100’ out both annuli
then will need to perf @ 350’
& circ cement

l-@— CR @ 940’ w/35’ cement cap

13-3/8" 48§ J-55 Csg @ 990’
Cmt’d w/1000 sks. TOC @ surface

-«g—— Perf 4 holes @ 1100’
Sqz w/650 sks Cl C Neat

TOC 1210’ behind 9-5/8"

TOC 2500’ behind 7"

9-5/8" 36# J-55 Csg @ 2900’
Cmt’d w/1150 sks. TOC @ 1210’

-4—— Cement plug £/2850’-2950'

Sqz’d @ 3450’ w/200 sks

-4— CIBP @ 5004’ w/35’ cement cap

5104’ -5194’ Monument Paddock

7" 26# J-55 Csg @ 5250’.

Cmt’d w/400 sks

Sqz’d @ 5080’ & 5246’ w/1500 sks
Pumped 95 sks down backside
5197’ pPBD. 5250’ TD.




